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Current Divider
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o A node with >2 resistors and a current source in parallel.

1. Element relationship laws
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Current Divider . G
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a Current division ‘;“»(
" The two resistors divide the current | in proportion to their
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Element Combination Simplification

o Leststors Tn Sevies
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Element Combination Simplification
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Circuit Analysis with Element Combination
Technique

(9
< | V | -—) R\ R‘
[ '_+_ l » l + 5 o 4:‘ +. &‘4 e A —
Ll Y3 | . l
Iy ?L % R;*kq. R%'
K2 o__j
b R, _
: ” o . Faltt®)
( 24, =
/( &2.* R;'tvﬂ—
2y
_5 +r ( RL(KZ*?"‘) - Vo
v, @ " j‘h\i' Ryt € X K;-\- Fﬂ' o @e."
S
( U—|: oy Ry
. V2
U‘L, Vo’\r‘/ "1:??:

20



Cortrelpory oubput o 4
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Dependent Sources ( ronlingar
7"?0'{’ Q\Q\M%‘\'

0 Independent sources: the G
values (voltages, currents) are
independent of circuit
operation. (4 gort dlement)

o Dependent sources: the values
are controlled by some other
parameters in the system.

]1 é—){b JT, ()




Oegzw\u\\' Sowrce

Oy ° l lx
Ex 9\. + | R o F?o\d vV, .
vo (%
CC s :Tx + V. éBA. keL: $+ix=o

v,
%
tx:ogA ; U-ﬂ‘: :zg—zozv



Examele2: Fid 0
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Circuit Analysis Example |

| ; 1) g == ! pA
(°\|r ——
T o+t + N2 V=1, 2m
Va2
LIAT Vo %ZoMQE2MQ vy = (,.2M

-
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\F VU,

4) Solve aauations

W3tz =L = o,c mA

U, = U]:Uz=o.5)"A-ZMf‘-= \ V
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Circuit Analysis Example Il

1) Uo = Vv
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